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MATHEMATICS

W ;3 uue | [ Ui : 80
e : 3 hours | [ Max. Marks : 80

B (i) ) ue arfvard €
(i) 38 999 OF 7 Fol 20 UTF €, S GR @Sl A, q, W AW T A 9 g0 ) @wue ¥ H
TH—Ue 3 a1l 10 9%, @8 T ¥ -3l 3fd ardd 5 ued, @ve ' ¥ f-d of ar
10 999 U4 WUS ‘T § U~ b diol 5 UTH 2 |
(iii) |ve o @& @ UEl BN T (S UG U A9 U Y DY A STARIFEAAR <A1 B |
(iv) 71 95 § D5 AT ANH A Tl 8, UM JT 3l arei ¢ob wed H, §i9 3ipi are A
ggHl ¥ T B 3l il < WAl A aRe fdeer A wa § ) e g v oy
B TP fdded & BT 2 |
(v) TET arel UEE A AINEA WS 8 R ¥ T A9 & wdern oney 8
(vi) dergeiey B TArT @t orwfa wE 2|
(vii) Y2 W9 | URW DI 3R T a6 H WISy, O Y9 9 0T 81 99 O 99y 9 4
DI |
ote: (i) All questions are compulsory.

(ii) The question paper consists of 30 questions divided into four Sections *A’, *‘B’, *C”and *D’.
Section ‘A’ comprises of ten questions of 1 mark each, Section ‘B’ comprises of five questions
of 2 marks each, Section ‘C’ comprises of ten questions of 3 marks each and Section D’
comprises of five questions of 6 marks each.

(1) Ail questions in Section ‘A’ are to be answered 1n one word or sentence or as per the exact
requirement of the question.

(iv) There is no overall choice. However, internal choice has been provided in one question of 2
marks, three questions of 3 marks each and two questions of 6 marks each. You have to
attempt only one of the alternatives in all such questions.

(v) Inquestions on construction, drawing should be neat and exactly as per the given measurement.
(vi) Use of calculator is not permitted,

(vii) Start from the first question and proceed to the last. Do not waste your time over a question
which you cannot solve.
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gug — 3’
(SECTION - ‘A’)
QT T B areh) vt B Rl i uRie R o 1 e R SR o @

1.
q
Write the condition to be satisfied by q, so that a rational number % has a non terminating rep
decimal expansions.
2. U fEE 9gTE S B e el & A auT o HRE 0 3R V5 €
The sum and product of zeroes of a quadratic polynomial are 0 and V5 respectively. What
quadratic polynomial.
3. " AU AABC ~ ADEF 3R g-9& &3 HHY: 64 W42 a7 81 ¥ € af EF =18 ¥4
BC &7 #I $Td ST |
Let AABC ~ ADEF and their areas be respectively 64 cm? and 81 cm?®. If EF = 18 cm, find the
of BC.
31 1 3 .
4, R Sof) 35 —% e, P [T gH Ug ‘2’ IR AR ‘d’ ferfRRav |
3|1 1 ; ) ) )
For the A.P. 37 5 T T e write the first term ‘a’ and the common difference *d’.
5. Wy 100 &< gUiTeh] &1 AT ia diforg |
Find the sum of the first 100 positive integers.
N 1 cosec’ B—sec’ 6
6. faar & tanf=—= 7 & HIF qAI8T |
’ an JE ‘ cosec’ B+ sec’ 0
20 eppl
Given that tan9 = -l-~ Find the value of cosecz 0 SLCZ 8 .
\;’5 cosec” G+sec” B
7. UF el B Bown g 9 8 | ISP I5hyS 7 S |
The radius of a sphere is 8 cm. Find its surface area.
8. U® Ff¥ea ger & uiidea fea gt & ?
What is the probability of a sure event ?
9. 41 S arHfd # I e go, et a) 0 § B Bourd s 3 ik 3 9 | ua @
P ¥ 37 gail R 21 9 Y@ri PA A1 PB @i @it #1 7 PA= 1299 & & PB 91 BT
In the given figure, two concentric circles with center O, have radii 5 cm and A
3 cm. From an external point P, two tangents PA and PB are drawn to these
circles. [f PA =12 ¢m, find PB.
231 (HWH) | 2]
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fraferRed aarar R # b’ 3fiY *d” F AFE Ad DI 1
5 15-20 20-25 25-30 30-35 35-40 40-45 45-30
RARET 4 3 b 7 4 3 1
Tl aqarar 4 9 15 22 d 29 30

In the following frequency distribution table write the value of 'b” and *d” :
Marks 15-20 20-25 25-30 30-35 35-40 40-45 45-50
Frequency 4 5 b 7 4 3 1
Commulative trequency 4 9 15 22 d 29 30

grs — q

(SECTION -'B’)

. 1 ameifRaa ford gamge 6 fwfeRag Wes it o1 g ufesd) el wurdt Janst @
- R Y @ IR @ 6x -3y +10=0, 2x-y-9=9

aE ge & farn wE s Ty 2
Without showing the graph, state whether the following pair of linear equations represent intersecting
lines, coincident lines or parallel lines: 6x—3y+10=0, 2x—-y-9=9.

Justifv your answer.

cas 70°
+¢0557° cosec 33° — 2 cos 60° HT A T HIfAT | 2

o

SN <

cos 70°

Without using trigonometric table find the value of — +c0s57° cosec 33° - 2 cos 60°,
sin

20°

=

. ABCU® 3wt 8, Rrad ZACB=90° | afe cD 1 AB @ g @ifsg & cD*=BD.AD. 2

ABC is a triangle in which ZACB=90°.1f CD L AB. prove that CD? = BD. AD.

L@ [ (3,2), (-2, -3) IR (2. 3) U 3ot @t € 2 afe €, at samgq {6 e ger @t Brye g

| 2

Do the points (3, 2), (-2, —3) and (2, 3) form a triangle ? If so, name the type of tnangle formed.

.52 o @ AT @ SET A | Ud U Argesdl Wil S 8, Widdar sid S & g7 gar g 2

(@) g (@) et T @ _
Acard is drawn at random from a pack of 52 cards, find the probability that the card will be :
{a) an ace (b) ared card

atexdal (OR)

W e % 5 & F9, 8 GBS A AR 4 W FA B | 39 ¥ A A TP war Argrwar e S
g1 ) @ gifdean @ b fFAaren mar @

IGIGES (@) =31 TE B

A box contains 5 red marbles, 8 white marbles and 4 green marbles. One marble taken out of the box
atrandom. What is the probability that the marble taken out will be ;

(a) red (b) not green

| 231 (HWH) [3] [ P.T.O.
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(SECTION - ‘C?)

16. 405230 12576 @1 HCF Yfders fImomt ToiRen &7 9dnT axa S Sy |

Use Euclid’s algorithm to find HCF of 4052 and 12576.
94T (OR)

Zeigy fF 342 v sufg wem &)

Show that 3\6 is irrational.

17. 2x+3y=11 3R 2x - 4y = - 24 31 & BT 3 X ‘m’ BT I8 W 09 ARC o
y=mx+3 8
Solve 2x +3y =11 and 2x — 4y = -24 and hence find the value of ‘m’ for which y = mx + 3.
18. it ¥aet & fAenfidl &1 9@ W e vees @ forg 7 7@e yweR <9 @ g T 700 9R
1 AR I BRI A SIF TEe TR | € 2059 ¥ O Tle /PR F A 90|
A sum of ¥ 700 is to be used to give 7 cash prizes to students of a school for their overall ac
performance. If each prize is ¥ 20 less than its preceeding prize, find the value of each of the priz
11
19. g Y & R (4, 0), (0, b) AR (1, 1) TRdy & 3l el
. . R |
Prove that the points (a, 0), (0, b) and (1, 1) are collinear, if —+—=1.
a
20. Rrg @AY & 0 [rcosA  sinA
+ =2 cosec A
Prove that : sin A I+cosA
3Jrqar (OR)
Eﬁﬁ:ﬂ'q . .2
g fF: liseca S S A http://www.ukboardonline.com
Prove that : sec A I-cosA
21. 99 IS BT dAvd wa FR Rred @i s mW A AS, -3), B(4, -6), C(2, -
D(1,2) &1
Find the area of that quadrilateral whose vertices taken in order are A(-5, -3), B(-4, -6), C(2,-
D(1, 2).
22. 430 B @ U6 g0 W 6 W Brew @ ve Wy g9 @ el g § Te Wl W @
BT 3R THS) evard AT | Ree ¥ 39 919 I S & A
Construct a tangent to a circle of radius 4 cm from a point on the concentric circle of radius 6 o
measure its length. Also verify the measurement by actual calculation.
231 (HWH) [ 4]
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0 BOTT A9 UF g9 @1 DS Wil B W UP GHGI ARG Bl 8 | FrfoRad & aaw

T BT 3

(i) " AY A (i) TTa & BFeawre (t=3.14)

Achord of a circle of radius 10 ¢cm subtends a right angle at the centre. Find the area of the corresponding :

(i) minor segment (i1) major sector (rn=3.14)
3441 (OR)

@ amfa A 56 m ST AT TH ABR A ABCD D & R a1 QY FAER B

el ) FERAT F9TE T ¥ 1 AR IS JISR TN B B dF D QPO B | N/
gz firg O 2, o i it e mel B Fanel B e B AT AW SO\
AT | (n=22/7)

Inadjoining figure, two circular flower beds have been shown on two sides of a square lawn ABCD of
side 56 m. If the centre of each circular flower bed is the point of intersection O of the diagonals of the

56m
C

’ square lawn, find the sum of the areas of the lawn and the flower beds. (n=22/7)

§ 9 079 g7 W AT fag W & el Yar TPawn TQWH TE # fag A f5: 3

LPTQ=2£0PQ
Two tangents TP and TQ are drawn to a circle with centre O from an external point T. Prove that :

£PTQ=220PQ

K fre wE & g fEurd wHieReT X2 -kx +4=03 oI IR & ? 3

For which value of *k’ the quadratic equation x* — kx + 4 = 0 has equal roots.

grs - T
(SECTION - ‘D)

T e A @1 URT @ yiadd 30 & 31 g8 93 9§ & 99g, S/ g0 B 4RI F e 9
O H @ W 2 U el £ e g ) 3re 2 fEE s awer @ A Rer o A A @) e =
B | 6
Amotor boat takes 2 hours more to cover a distance of 30 km upstream than it takes to cover the same
distance downstrean. If the speed of the stream is 2 km/hr, find the speed of the boat in still water.

=4l (OR)
B SRl B T BT AN 180 % | BIE WA E1 47 91 AT BN HIS AT 8 | AT GEATT §I1d B |

The difference of squares of two numbers is 180, The square of the smaller number is 8 times of the
larger number. Find the two numbers.

). 12080 ) AR BT T 84 WA B | AR U Wel @ AT B wEGA B @ fg 78 R 500 gaww
T & A oo g 30 4 ufy ot W @Y <% & AT B B DIE S Py 6

The diameter of a 120 cm long roller is 84 cm. If it takes 500 complete revolutions to level a play

| ground, determine the cost of levelling it at the rate of 30 paise per square meter.

(PN [ 5] [ P.T.O.
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28, firg HfT fF frdl 1 g & 5l g = i 1 vt Y@l @ 99 31 aon wd g

e T TErEve g B OR JfaRd BT & §YIE 8l § 7,
Prove that the angle between the two tangents drawn from an external point to a circle is supplemNo-.
to the angle subtended by the line segment joining the points of contact at the centre. 1

29 UF Gadc WM IR WS AR # orn 99 Rl F 40 Hiex o ot 8 ol § wafd
I=TAT 60° ¥ HEHR 30° B FIaT ¥ | HAR P FaATe el DI |
The shadow of a tower standing on a level ground is found to be 40 m longer when the Sun’s a.
is 30° than when it is 60°. Find the height of the tower.

4T (OR) 2 3
: 3

o e T B RIER ¥ 3 R O 8 e I 7 B R O a9 S qw = a;
300 3R 45° & | TR W ) ST ok Sl e B A B g s B o 2

The angles of depression of the top and the bottom of an 8 m tall building from the top
multi-storeyed building are 30° and 45°, respectively. Find the height of the multi-storeyed bui -'g
and the distance between the two buildings. -
30. fF=felad |rell ) 7ita & 100 BT 7 gan 9l deRTR A &1 Iaured s 8 ¢
ST (fFm /2awR) | 50-55 55-60 | 60-65 | 65-70 | 70-75 | 75-80
BT @Y W 2 8 12 24 38 16
g 429 BT e B UPR @ ¥ H gefaw iR R Swer drw difg |
The following table gives production yield per hectare of wheat of 100 farms of a village :

wod duluopIeo@ N Mmm//:diy

Production yield (in kg/ha)

50-55

55-60

60-65

65-70

70-75

75-80

Number of farms

2

8

12

24

38

16

Change the distribution to a ‘more than type’ distribution and draw its ogive.
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